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1. Functions (Linear)

Abby, Breanne and Cate decide to join the same gym.

The gym charges a one-time membership fee as well as a small fee each time someone visits.

* Abby visits the gym 64 times and pays $ 400

* Breanne pays $ 425 to visit the gym 84 times
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If Cate visits the gyr 120 timesphow much should she expect to pay? @
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2. Functions (Quadratic)

What is the rule for a quadratic function that passes through the origin and point (5, -3.125)?
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Answer: Cate would expect to pay: $
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3. Functions (Quadratic) KR N\ i
y = —0.5x% y= -O.5x2/ \
Ify =—112.5, what is the value of x’? ' |
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Answer: (__ 15, -1125)

4. Functions (Exponential)

c=-2
A viral infectio ' ize every 4 hours. — WY hus,
[f the infection star 1t@nts, how many would there be at the end of 2 full days?
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Answer: There would be 24 ST6 \? viral agents at the end of 2 full days
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5. Functions (Exponential) > Goes Qo _

~

. - o2 ~ &8 57.
The value of a car declines at an average rate of 8.5 % per year. C= .

The car was purchased in 2009 for $35000. =~__  _— (¢ . A.§ 7. (diide 5.( \ue.)

How much is the car worth in 20167?
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Answer: The car will be worth $ in 2016.



6. Functions (Exponential)

C s in U\lo-;'ia (_‘y\wﬁ@)
ided to go to the bank and invest some money.

In 2004, e deposited the money in an-aeeeuntwith an annual average rate of return of 25%
In 2007, the value of the account Wa__ wadt Le

How much money did Luke inv@/ ’G’\@\ ‘" |
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Answer: Luke’s initial investment was for $
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7. Functions (Step)

It is family day at the local rink and ticket prices vary depending on age.
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How much would it cost for a family of 4 to attend, given the following ages:
e Mom:age53 —> 5D $

* Dad:age55 —> 'S $

* Kid#1:age20 — 20§

e Kid#2:age5 —> 2o $
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Answer: It would cost $ ?S- _ 0o




8. Functions (Periodic)

The graph below is a periodic function that shows the height of a ball off the ground as a function
of time.

* The ball rises and falls at the same speed.

*  When the ball reaches a max height of 150 cm, it stays put for 20 seconds before falling again.

—
How high above the ground is the ball after 15 minutes?
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Answer: After 15 minutes, the ball will be / 00 C m moﬂ the ground.



9. Functions ( Piecewise)

The graph below represents the outline of a skateboard ramp which corresponds to a
piecewise function defined by:
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if 80 < x < 160
—1.25x+b if160<x< ? You must use this information to
answer the problem

For security purposes, a strip of reflective tape will be placed on the ramp at a height of 144 cm

What is the length of this piece of reflective\tape? (Length along the x-axis)
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Answer: The length of the tape will be
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